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2-Point Holistic Rubric 

2 Point A two-point response includes the correct solution to the question and demonstrates a 
thorough understanding of the mathematical concepts and/or procedures in the task. 

This response 

• indicates that the student has completed the task correctly, using mathematically 
sound procedures 

• contains sufficient work to demonstrate a thorough understanding of the 
mathematical concepts and/or procedures 

• may contain inconsequential errors that do not detract from the correct solution 
and the demonstration of a thorough understanding 

1 Point A one-point response demonstrates only a partial understanding of the mathematical 
concepts and/or procedures in the task. 

This response 

• correctly addresses only some elements of the task 
• may contain an incorrect solution but applies a mathematically appropriate process 
• may contain the correct solution but required work is incomplete 

0 Point* A zero-point response is incorrect, irrelevant, incoherent, or contains a correct solution 
obtained using an obviously incorrect procedure. Although some elements may contain 
correct mathematical procedures, holistically they are not sufficient to demonstrate even 
a limited understanding of the mathematical concepts embodied in the task. 

* Condition Code A is applied whenever a student who is present for a test session leaves an entire 
constructed-response question in that session completely blank (no response attempted). 
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3-Point Holistic Rubric 

3 Point A three-point response includes the correct solution(s) to the question and demonstrates 
a thorough understanding of the mathematical concepts and/or procedures in the task. 

This response 

• indicates that the student has completed the task correctly, using mathematically 
sound procedures 

• contains sufficient work to demonstrate a thorough understanding of the 
mathematical concepts and/or procedures 

• may contain inconsequential errors that do not detract from the correct solution(s) 
and the demonstration of a thorough understanding 

2 Point A two-point response demonstrates a partial understanding of the mathematical concepts 
and/or procedures in the task. 

This response 

• appropriately addresses most but not all aspects of the task using mathematically 
sound procedures 

• may contain an incorrect solution but provides sound procedures, reasoning, and/ 
or explanations 

• may reflect some minor misunderstanding of the underlying mathematical 
concepts and/or procedures 

1 Point A one-point response demonstrates only a limited understanding of the mathematical 
concepts and/or procedures in the task. 

This response 

• may address some elements of the task correctly but reaches an inadequate solution 
and/or provides reasoning that is faulty or incomplete 

• exhibits multiple flaws related to misunderstanding of important aspects of the 
task, misuse of mathematical procedures, or faulty mathematical reasoning 

• reflects a lack of essential understanding of the underlying mathematical concepts 
• may contain the correct solution(s) but required work is limited 

0 Point* A zero-point response is incorrect, irrelevant, incoherent, or contains a correct solution 
obtained using an obviously incorrect procedure. Although some elements may contain 
correct mathematical procedures, holistically they are not sufficient to demonstrate even 
a limited understanding of the mathematical concepts embodied in the task. 

* Condition Code A is applied whenever a student who is present for a test session leaves an entire 
constructed-response question in that session completely blank (no response attempted). 
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2018 2- and 3-Point Mathematics Scoring Policies 
Below are the policies to be followed while scoring the mathematics tests for all grades: 

1.	 If a student shows the work in other than a designated “Show your work” or “Explain” area, that work 
should still be scored. 

2.	 If the question requires students to show their work, and the student shows appropriate work and clearly 
identifies a correct answer but fails to write that answer in the answer space, the student should still receive 
full credit. 

3.	 If students are directed to show work, a correct answer with no work shown receives no credit. 

4.	 If students are not directed to show work, any work shown will not be scored. This applies to items that 
do not ask for any work and items that ask for work for one part and do not ask for work in another part. 

5.	 If the student provides one legible response (and one response only), the rater should score the response, 
even if it has been crossed out. 

6.	 If the student has written more than one response but has crossed some out, the rater should score only the 
response that has not been crossed out. 

7.	 If the student provides more than one response, but does not indicate which response is to be considered 
the correct response and none has been crossed out, the student shall not receive full credit. 

8.	 If the student makes a conceptual error (that is an error in understanding rather than an arithmetic or 
computational error), that student shall not receive more than 50% credit. 

9.	 Trial-and-error responses are not subject to Scoring Policy #6 above, since crossing out is part of the trial-
and-error process. 

10. If a response shows repeated occurrences of the same conceptual error within a question, the conceptual 
error should not be considered more than once in gauging the demonstrated level of understanding. 

11. In questions requiring number sentences, the number sentences must be written horizontally. 

12. When measuring angles with a protractor, there is a +/- 5 degrees deviation allowed of the true measure. 

13. Condition Code A is applied whenever a student who is present for a test session leaves an entire 
constructed-response question in that session completely blank (no response attempted). This is not to be 
confused with a score of zero wherein the student does respond to part or all of the question but that work 
results in a score of zero. 
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EXEMPLARY RESPONSE
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 GUIDE PAPER 1 Additional
 
41 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The area of the scale 
drawing is calculated correctly using sound procedures. 
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GUIDE PAPER 2
 
41 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The area of the scale 
drawing is calculated correctly using sound procedures. 
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GUIDE PAPER 3
 
41 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The area of the scale 
drawing is calculated correctly using sound procedures. 
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GUIDE PAPER 4
 
41 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The correct scale 
factor is determined; however, the scale area is calculated using addition rather than multiplication. The 
response correctly addresses only some elements of the task. 
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GUIDE PAPER 5
 
41 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The correct scale factor 
and true area are determined; however, the scale area is calculated incorrectly. The response correctly 
addresses only some elements of the task. 
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GUIDE PAPER 6
 
41 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The correct scale 
width is determined; however, it is not used to calculate the scale area. The response correctly addresses 
only some elements of the task. 
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GUIDE PAPER 7
 
41 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. Although the true 
area is calculated, there is no evidence of an understanding of scale. 
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       GUIDE PAPER 8 Additional
 
41 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. Although the work 
contains correct values for the scale length and width, they are obtained through incorrect procedures and
no attempt is made to calculate the area. 
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EXEMPLARY RESPONSE
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GUIDE PAPER 1 Additional
 
42 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The greatest number of 
outfits is calculated correctly using an appropriate inequality. 
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GUIDE PAPER 2
 
42 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The greatest number 
of outfits is calculated correctly by repeatedly subtracting the cost of each outfit until there will not be 
enough money left. 
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GUIDE PAPER 3
 
42 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The greatest number of 
outfits is appropriately determined by comparing the cost of two outfits to the remaining money. 
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GUIDE PAPER 4
 
42 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The amount of 
remaining money is correctly calculated; however, it is not clear how the correct solution was obtained 
from this result. The required work is incomplete. 
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GUIDE PAPER 5
 
42 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The amount of 
remaining money is miscalculated (in the third line of the work, only the addition was performed, not
the subtraction); however, the incorrect amount is correctly divided by the cost per outfit and the result 
is truncated to a whole number. The response contains an incorrect solution but applies an appropriate 
process. 
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GUIDE PAPER 6
 
42 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The greatest number 
of outfits is appropriately calculated by repeatedly subtracting the cost of each outfit from the remaining 
money; however, the cost of the helmet is not included in the money already spent. The response correctly 
addresses only some elements of the task. 
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GUIDE PAPER 7
 
42 

Score Point 0 (out of 2 points) 

Holistically, this response is not sufficient to demonstrate even a limited understanding of the task. The 
cost per reflector is cubed rather than multiplied by three; the resulting total for the money already spent 
exceeds the $500 budget, contradicting the prompt. 
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GUIDE PAPER 8 Additional
 
42 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. The work and 
solution are incorrect. 
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EXEMPLARY RESPONSE
 
43 
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GUIDE PAPER 1 Additional
 
43 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The inequality and 
explanation are correct. 
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GUIDE PAPER 2
 
43 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The inequality and 
explanation are correct. Using x as a variable instead of d is inconsequential and does not detract from the 
response. 
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GUIDE PAPER 3
 
43 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The inequality and 
explanation are correct. 
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GUIDE PAPER 4
 
43 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The explanation is 
correct; however, the response does not include a correct inequality. The response correctly addresses 
only some elements of the task. 
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GUIDE PAPER 5
 
43 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The explanation is 
correct; however, an equation is written rather than an inequality. The response correctly addresses only 
some elements of the task. 
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GUIDE PAPER 6
 
43 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The explanation is 
correct; however, although the inequality is otherwise correct, it uses a greater than symbol instead of a 
greater than or equal to symbol. The response correctly addresses only some elements of the task. 
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GUIDE PAPER 7
 
43 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. An incorrect 
expression is provided rather than an inequality, and the explanation is incorrect. 
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GUIDE PAPER 8 Additional
 
43 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. An incorrect 
expression is provided rather than an inequality, and the explanation is incorrect. 
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EXEMPLARY RESPONSE
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GUIDE PAPER 1 Additional
 
44 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The yards of fabric used 
per curtain is correctly determined using sound procedures. 
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GUIDE PAPER 2
 
44 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The yards of fabric used 
per curtain is correctly determined using sound procedures. 
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GUIDE PAPER 3
 
44 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The yards of fabric 
used per curtain is correctly determined using sound procedures. The dollar sign included in the answer is 
considered an inconsequential error that does not detract from the response. 
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GUIDE PAPER 4
 
44 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The yards of fabric 
used per curtain is correctly determined; however, the answer is rounded. The response contains an 
incorrect solution but applies an appropriate process. 
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GUIDE PAPER 5
 
44 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The yards of fabric 
per curtain, both total and unused, are correctly determined; however, they are inappropriately rounded 
before taking their difference to determine the solution. The response contains an incorrect solution but 
applies an appropriate process. 
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GUIDE PAPER 6
 
44 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The equation written 
shows some understanding of the correct process; however, it is missing parentheses around the subtraction 
and the student followed through on this error by following the order of operations. The response correctly 
addresses only some elements of the task. 
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GUIDE PAPER 7
 
44 

Score Point 0 (out of 2 points) 

Holistically, this response is not sufficient to demonstrate even a limited understanding of the task. Although 
the total amount of fabric is divided by the number of curtains, the result is incorrectly subtracted from the
total fabric remaining, showing confusion between totals and quantities per curtain. 
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GUIDE PAPER 8 Additional
 
44 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. The work and 
solution are incorrect. 
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EXEMPLARY RESPONSE
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GUIDE PAPER 1 Additional
 
45 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The distance Jen must 
run on Friday is determined correctly using sound procedures. 
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GUIDE PAPER 2
 
45 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The distance Jen must 
run on Friday is determined correctly using sound procedures. The addition of 11 + 51⁄8 = 161⁄8 is performed
mentally: its omission from the written work does not detract from the response. 
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GUIDE PAPER 3
 
45 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The distance Jen must 
run on Friday is determined correctly using sound procedures. 
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GUIDE PAPER 4
 
45 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The total distance Jen 
already ran is calculated correctly; however, the distance she must run on Friday is incorrect. The response 
correctly addresses only some elements of the task. 
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GUIDE PAPER 5
 
45 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The total distance 
Jen already ran is calculated correctly; however, the distance she must run on Friday is incorrect due to a 
calculation error. The response contains an incorrect solution but applies an appropriate process. 
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GUIDE PAPER 6
 
45 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The total distance Jen 
already ran is calculated incorrectly (51⁄8 is converted to 52⁄4); however, the error is followed through and 
the difference between the calculated value and the goal of 22 is provided as the solution. The response 
contains an incorrect solution but applies an appropriate process. 
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7 and 1 forth 

GUIDE PAPER 7
 
45 

7 and 1 forth 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. The work and 
solution are irrelevant to the task. 
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GUIDE PAPER 8 Additional
 
45 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. Per Scoring Policy #3, 
a correct answer with no work shown receives no credit. 
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EXEMPLARY RESPONSE
 
46 
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GUIDE PAPER 1 Additional
 
46 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The equation is correct 
and is solved correctly using sound procedures. 
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GUIDE PAPER 2
 
46 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The equation is correct 
and is solved correctly using sound procedures. A transcription error from 198⁄33 to 198⁄3 is considered 
inconsequential and does not detract from the response. 
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GUIDE PAPER 3
 
46 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The equation is correct 
and is solved correctly using sound procedures. 
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GUIDE PAPER 4
 
46 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The number of rope 
sections is calculated correctly; however, the equations in the work do not contain a variable to be solved 
for. The response correctly addresses only some elements of the task. 
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GUIDE PAPER 5
 
46 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The number of rope 
sections is calculated correctly; however, the equation does not include a variable to be solved for and 
is only an expression being evaluated. The response correctly addresses only some elements of the task. 
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GUIDE PAPER 6
 
46 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The number of rope 
sections is calculated correctly; however, no equation is provided. The response correctly addresses only 
some elements of the task. 
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GUIDE PAPER 7
 
46 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. The work is 
incorrect and does not contain an equation. The solution is incorrect. 
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GUIDE PAPER 8 Additional
 
46 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. The equation and 
the solution are incorrect. Per Scoring Policy #6, only the work that has not been crossed out is scored. 
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GUIDE PAPER 1 Additional
 
47 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The number of scooters 
sold in Year 4 is calculated correctly using sound procedures. 
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GUIDE PAPER 2
 
47 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The number of scooters 
sold in Year 4 is calculated correctly using sound procedures. 
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GUIDE PAPER 3
 
47 

Score Point 2 (out of 2 points) 

This response demonstrates a thorough understanding of the concepts in the task. The number of scooters 
sold in Year 4 is calculated correctly using sound procedures. 
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GUIDE PAPER 4
 
47 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. A proportion is used 
to solve the problem; however, the percentage is incorrectly given a denominator of 1000 rather than 100 
on the left-hand side of the equation. The response correctly addresses only some elements of the task. 
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GUIDE PAPER 5
 
47 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. The calculations to 
determine 112% of each individual year are correct; however, they are written with percent signs and a 
calculation error occurs when adding them to find the combined total. The response contains an incorrect 
solution but applies an appropriate process. 
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GUIDE PAPER 6
 
47 

Score Point 1 (out of 2 points) 

This response demonstrates only a partial understanding of the concepts in the task. Year 3 is not included 
in the calculations, although the process is otherwise correct. The response correctly addresses only some 
elements of the task. 

Page 72 

m
unote

s



 

GUIDE PAPER 7
 
47 

Score Point 0 (out of 2 points) 

Although some elements may contain correct procedures, holistically this response is not sufficient 
to demonstrate even a limited understanding of the task. The proportion written is incorrect, and the 
subsequent subtraction and addition show no understanding of what the solution, x, represents. 
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GUIDE PAPER 8 Additional
 
47 

Score Point 0 (out of 2 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. The work is 
incoherent and the solution is incorrect. 
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GUIDE PAPER 1 Additional
 
48 

Score Point 3 (out of 3 points) 

This response demonstrates a thorough understanding of the concepts in the task. The explanation is 
correct and the number of miles the probe travels is calculated correctly using sound procedures. 

Page 77 

m
unote

s



GUIDE PAPER 2
 
48 

Score Point 3 (out of 3 points) 

This response demonstrates a thorough understanding of the concepts in the task. The explanation is 
correct and the number of miles the probe travels is calculated correctly using sound procedures. 
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GUIDE PAPER 3
 
48 

Score Point 3 (out of 3 points) 

This response demonstrates a thorough understanding of the concepts in the task. The explanation is 
correct and the number of miles the probe travels is calculated correctly using sound procedures. Although 
the incorrect statement “k = 66000” appears in the work, the value of k is also stated correctly twice and
the mathematical operations are correct: the error is considered inconsequential and does not detract from
the response. 
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GUIDE PAPER 4
 
48 

Score Point 2 (out of 3 points) 

This response demonstrates a partial understanding of the concepts in the task. The number of miles 
the probe travels is calculated correctly; however, the explanation is incomplete. It does not mention 
the necessary criterion of having a constant rate. The response appropriately addresses most, but not all 
aspects of the task. 
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GUIDE PAPER 5
 
48 

Score Point 2 (out of 3 points) 

This response demonstrates a partial understanding of the concepts in the task. The number of miles the 
probe travels is calculated correctly; however, the explanation is incomplete. It does not mention the 
necessary criterion of passing through the origin. The response appropriately addresses most, but not all 
aspects of the task. 
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GUIDE PAPER 6
 
48 

Score Point 2 (out of 3 points) 

This response demonstrates a partial understanding of the concepts in the task. The explanation is correct; 
however, the solution for the number of miles the probe travels is incorrect due to a transcription error 
using the value 25000 instead of 24000. The response contains an incorrect solution but provides sound 
procedures and explanations. 
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GUIDE PAPER 7
 
48 

Score Point 1 (out of 3 points) 

This response demonstrates only a limited understanding of the concepts in the task. The number of 
miles the probe travels is calculated correctly; however, the required work is limited and the explanation 
is vague. It is not clear how the value 18000 is obtained and while the phrase “24,000 every time” may
indicate a constant rate, the wording is imprecise and it is not the correct value of the unit rate. 
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GUIDE PAPER 8 Additional
 
48 

Score Point 1 (out of 3 points) 

This response demonstrates only a limited understanding of the concepts in the task. The explanation 
correctly identifies passing through the origin as a criterion for proportionality; however, a constant rate 
is not mentioned and the solution for the number of miles the probe travels is incorrect. The unit rate used 
is incorrect and the work does not show how the value 10000 was obtained. The response addresses some 
elements of the task correctly but reaches an inadequate solution. 
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GUIDE PAPER 9
 
48 

Score Point 1 (out of 3 points) 

This response demonstrates only a limited understanding of the concepts in the task. Although the 
explanation is insufficient and the solution for the miles the probe travels is incorrect, holistically the 
work shows some understanding of the unit rate and correctly calculates its value. The response addresses 
some elements of the task correctly, but reaches an inadequate solution. 
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GUIDE PAPER 10
 
48 

Score Point 0 (out of 3 points) 

Holistically, this response is not sufficient to demonstrate even a limited understanding of the task. 
Although there is some indication that proportionality requires equal ratios, the comparison is made on
incorrect ratios. The work and solution for the distance the probe travels are incorrect. 

Page 86 

m
unote

s



GUIDE PAPER 11 Additional
 
48 

Score Point 0 (out of 3 points) 

This response is not sufficient to demonstrate even a limited understanding of the task. The explanation 
and the answer are incorrect, with no work shown. 
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